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(a) What do you mean by financial management? How profit maximization
objective is different from wealth maximization? (2+4)

(b) A deposit oft 3000 each year is to be made at the end ofeach of the next
5 years. Calculate the future value of an annuity when rate of interest is l0olo

compounding annually. (6)

(c) You are required to determine the present value of{ 3000 receivable after
5 years and the rate of interest is 12% per annum. (6)

OR

(a) What are the different kinds of decisions in which a financial manager is
involved? How the capital budgeting decision is different from working capital
management decision ofan organization? (8+4)
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(b) A College student is awarded a scholarship and two options are placed

before him (i) to receive ( 2200 now or (ii) receive t 200 p.m. at the end

of each of next 12 months. Which option he should choose based on present

value concept, ifrate ofinterest is 12% p.a.? (4+2)

2. (a) Following information is extracted from the balance sheet of M/S Yogesh

&Co. Ltd.

Particulan ({)
50,000 Equity Shares of t10 each 5,00,000

12 %oPref. Shares (2500 x t 200 each) 5,00,000

Total share capital 10,00,000

,,

The following additional information is supplied to you :

Profit before tax t 7,00,000 Tax rate 40o/o

Market price of equity share { 42

You are required to compute following :

(i) Dividbnd per share (Equity shareholders)
(ii) Earnings Per Share
(iii) P/E Ratio

(b) Balance sheet ofDubey Co. Ltd. is given below :

(t2)

Capitd and Liabitities Amounl (<) Assets Amount (O

Equity Share Capital 2,90,000 Land and Building 2,60.000

10 % Prel Share Capital z,2s,0N Plant and Machinery 2,05,00q

Resenes and Surplus 1,32,500
Investment in Y Co. Ltd
(long term)

1,55,000

Debenfi.rcs 1,00,000 Inventory 47,500

Short term loan 55,000 Debtors 64,000

Bills Payable i8,000 Cash 47,600

Crediton 22,750 Bank 41,150

Outstanding salary 10,250
Short-lerm Marketable
Securitres

7,900

Provision for tax 2,7 50 Pre-paid Insuratce 28100

Total 8,56,250 Total 8,56,250
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You are required to compute : (6)

(i) Current Ratio
(ii) Liquidity Ratio
(iii) Absolute Liquidity Ratio

OR

(a) A company is considering a capital budgeting proposal of { 1,50,000. The

project is expected to generate annual cash flows of t 20,000, t 50,000,
t 50,000, { 60,000 and { 50,000 respectively in next five years. You are

required to compute following values when required rate of return is

r0%. (r2)
(i) Payback Period
(ii) Discounted Payback Period
(iii) Net Present Value (NPV)

(b) What do you mean Internal rate of return (IRR)? Why Net present value
(NPV) is considered superior than IRR? (2+4)

(a) What is cost ofcapital? How the overall cost of capital is different from
specific cost of capital? Q+4\

@) Explain the different kinds of leverages and also determine the values of
operating leverage, financial leverage and combined leverage from the

following the data. Q2)
(i) Sales ? 5,00,000
(ii) Variable cost t 3,50,000
(iii) Fixed Cost ? 1,00,000 and Debt t 2,50,000 at l0%o.

OR

(a) The following is structure of Gunjan Ltd. ( l2)

Sources Amount (t) Specifrc cost of
capital

Equity shares (3,00.000 shares of { 10 each) 30,00,000 I lYo

Pref Share Capital (50,000 shares of { l0 each) 5,00.000 &Yo

Retained Eamings 15.00.000 llo/o

I 0 % Debentues of t 1,000 each 10,00,000 4.5o/o

Total 60,00,000

P,T.O.
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You are required to calculate the weighted average cost of capital based on
the book value weights from the above given-data set.

@) What do mean by cost of debt? How it provides tax benefits to an organization
with respect to redeemable and irredeemable debt securities? (2+4)

(a) What is dividend? What are the factors which an organization should consider
before deciding its dividend policy? (2+'1)

(b) What do you mean by working capital? What are the different types of
working capital? (3+6)

OR

(a) Is dividend policy relevant in the current business environment? Discuss the
different types of dividend policies. (3+6)

(b) Is working capital requirement of an organization remains same'throughout
the year? What are the factors, which affect working capital requirement of
an organization? (3+6)

4

5 (a)

(b)

(a) (i)

(iD

(b) Write short notes on following points :

(i) Split shares

(ii) Bonus shares

What is risk? Discuss in details the different kind ofrisks? (3+9)

A bond of t 100 bearing I coupon rate of 10% is redeemable at par in l0
years. Find out the value of the bond if required rate of return is l2%o or
l0Yo or l5%o. (6)

OR

A firm pays a dividend of 30% on the equity shares offace value of
t 100 each. Find out the value of the equity share given that the
dividend rate is expected to remain same and the required rate of
return of the investor is 15%. (6)

A share having a face value of I 100 rupee is expected to pay a

dividend of l5o/o at the end of the year one and the growth rate of
dividends is estimated to be 5% Per annum. Compute the value of
equity share when the required rate of return is l2%o. (6)

(6)
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Tq 60,00,000
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